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Quebec’s Anila Madiraju, 17, is considered
one of the three top scientists in the world
by Intel.

Spendmg your allowance is fun, but people to make change using fewer would carry 14 coins
it has a downside—it can make your coins. Shallit’s results showed that by instead of 18 for every

pocket heavy. adding an 83-cent coin, Canadians three purchases.
Think about this: every time you would get an average of five coins—.6 Shallit also found that Americans
spend s3, you get an average of - — would carry less change if they
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six coins—sz.9 to be exact—as
change. After you buy three
things using a $5 bill each
time, you have accumulated
about 18 coins that weigh down
and jingle in your pocket. Has
anybody thought of a way to
make less change?

Actually, yes! Computer
professor Dr. Jeffrey O. Shallit
at the University of Waterloo
in Ontario has found out that if

replaced the 1o-cent coin with
an 18-cent coin. (Remember, in
Canada, we have the st and s2
coins.) This would reduce the
average change from about five
coins to about four. This may not
sound like a big change, but after
ten purchases people would have
lighter pockets because they would
carry about eight coins less.

This strategy may help people
reduce the weight and jingling
Canadians had an 83-cent coin, in their pockets, but calculating
they would have less change in ; v change for 83-cent or 18-cent coins
their pockets. is a little more difficult. But, hey,

Dr  Shallit used mathematics to be exact—every time they made new coins would make your pocket
and a computer to determine which 2 purchase using a s5 bill. People’s lighter, and your brain would get the
combination of coin values would allow  pockets would be lighter because they jingle.

Photos.com

Nov/Dec 2003 ¥




